Some clues to 1% term Project (3° eso) 2010 11

Problem 1:

From Fg = Fc, and a little algebra to simplify and cancel terms, you get

Problem 2:

- Substitute 2 T R/ T for V and with little algebra to simplify and cancel
terms, you get :

Problem 3:

- First convert all units to meters and seconds: R =- meters
and T =[Jllseconds. Then substitute values into the above equation:

v-E - .
M= (" )/ ()
M= _ kilograms

Problem 4:
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Radino Periodo
boon G E7E-11 1737 2
Planet 1 G E7E-11 o678 3
Planet 2 G GE7E-11 400 4
Planet 3 G E7E-11 12000 o
Planet 4 GGE7E-11 aB00 G
Planet & GA7E-11 3200 7
Planet b GA7E-11 4368 4
Planet ¥ G A7E-11 11200 3
Planet 8 G E7E-11 432 G
Planet 9 G R7E-11 7888 12
Planet 10 G E7E-11 0222 24
Planet 11 G E7E-11 24000 43
Planet 12 G E7E-11 125000 a7
Planet 13 G E7E-11 34000 3
Planet 14 G GE7E-11 aB00 o
Planet 15 G E7E-11 2400 3
Planet 16 GGE7E-11 1500 2




